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OPTION-A

For Honours Generic/ Regular

Paper :

BOT-HG-3016/RC-3016

(Plant Physiology and Metabolism )

1. Answer the following questions as directed :

1x7=7
weTe Al PR TUReIE et Brre
(i) Define Glycolysis.
A iRfRRs @
(i) What is Vernalin ?
eiclem 2
(iiij Mention one trace element.
@Bt (§5 e A (PRI |
(iv) Name one short-day plant.
<5t o6 e S = foradt
(v) Give one function of phloem tissues.
FEN (IR G5 I Srad 9|
(vi) What is the colour of carotene pigment ?

@I R GT AMdRE R FEF?
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(vii) Indole-3-acetic acid belongs to

group of plant growth regulation.
f - (Fill in the blank)
T T-o- BT @BT .- coiive B 3%
‘ (T T 799 7))

15iicad

Write short notes on the following

2x4=8

fAtRIe epRs 55 (R Tt ¢

(a)

(b)

(c)

(d)

Oxidative phosphorylation

- e THFReEDT

Significance of transpiration
AT ST Sieory

Photosynthetic pigments -
AT IG5 ML
Anaerobic respiration
RIS B

Answer any three of the following

questions :

5x3=15

oot SRS el fofs o Tex famt ¢

(@)
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Write the prbcess of Glycolysis.
iz Ay Rt 3@ =0
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(b) What are the signiﬁcanée,s of C4 plants

©

(d)

(e)

and write the process of photosynthesis
in these types of plant.

C,-Bm it Bl Wi % WS S
TR AfFT FEeRIT T

Describe the importance of water

potential in respect to perform all the
physiological functions.

. S AIRERR TS T B BB

ol & ot

Discuss thev process of stoma.tal
opening. |

siaTg T (I ARFACE! &

[llustrate the mechanism of ATP-
synthesis.

ATP-(oTI QR @S0! forat |

Answer any three of the following

questions :

10x3=30

esre Reerar RfAs o Tes fa ¢

(a)

Describe the process of Light reaction
of photosynthesis. Mention at least two
differences of P.S.I and P.S.II.
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(b)

(c)

(d)

(e)
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AR SN Rieanest &t P.S. 1
% P.S. [1F NeF @2 757 i<y 3409t T

What do you mean by nitrogen
fixation ? Mention symbiotic nitrogen
fixation.

ARG em e e [ I e HpiRwhe
ARG o AfeTeR Ram o

What is photoperiodism ? Discuss it on
the basis of SDP, LDP and day-neural
plants.

Ry 2 5o, w11 s o e
e sikeafres Sfer Rkl 3ot 1t

What is Auxin? Discuss the
physiological role and functions of
auxin in plants. 2+8=10
3w e Sfewe =i R 91 ﬁvm’?w
I ikafbe e Iz BTl

Define enzyme. Discuss the structure
and properties of enzyme. 1+5+4=10

@Qmwmlﬁﬁmmmm
EEOIC TR
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What do you mean by macro and micro

nutrients ? Mention the role of nitrogen

and potassium in plants. 2+8=10

i o TR f T e @ e ARG e
e SR Sev fee [ 7= e
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OPTION-B
For Honours Generic

Paper : BOT-HG-3026

( Environmental Biotechno logy)

1. Answer the following questions :

1x7=7

ool Al PR el fumt ¢

(a)
(b)

(©

(@)

(e)
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What is full form of UNEP ?
UNEPR 7749 st 52
What do you mean by Bioremediation ?

tora efewie I & g@mie

The Forest Conservation Act was
formulated in '

" Name any two greenhouse gases. -

Ricoren 70t . (8 97 (ol 7 f77ir )
What is Acid rain?
afew I e

What was the main aim of Kyoto
Protocol ?

% oo we = Sows B e e
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1 :
{aver (bp) Write about various molecular
by ozone la . . '
() ,\:hal‘tﬁdo ?you mean by Y techniques in Bioremediation.
epletion »
T B9 SR Wi [ 3@ o fSPiT Rifen wiie “mfermze RIw
e il
Write short answers : 2x4=8 ‘
St es fm ¢ ! (c) Write the salient features of Wildlife
(@) What is Carbon fdotprint? Protection Act.
I oS e | FRRT T ST Sy RMSRE
(b) Write two advantages of biopesticides. FAI | .

e S 70 R B |
() What is biomagnification ? ]
o) Radn Be |

(d) Discuss the advantages and limitations

of using bibte’chnoldgical methods over

| chemical methods for air pollution and
(d) Give two examples of polyaromatic odour control.
hydrocarbons. : . .
AT 2RGeE 7or Swe R - g, A7 o gofs e A IemfRe
. : AE OO (T IS A JrIT SIS R
3. Answer any three of the following 5 ois i RAREOPRRS R e 1|
Reare Rerar fofbT ©es o & (e) What are the importances of
(@) Give a brief account of management of ‘ Environmental Ethics?
greenhouse gases. ) | SR tHfeToR eTEER B
FTETR (T IR TS BN o |
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4.

Answer any three of the following :

10x3=30

Rzl fofas! 2R Bel forl 8

(@)

(b)

()

(d)

- in sustainable society.

What is Environmental Pollution?
Mention about various types and
sources of pollution. State few
measures to reduce pollution.
1+4+5=10

offRce el R A7 R S0 I SRR
fral | oEd 29 TR g 397l B |

What is Earth Sumrhit ? Discuss about
the objectives and outcomes of Earth
Summit. 2+8=10
gRat few e R AfErR Soes o
e TENTE S =1 |

Write about the importance of
Environmental Education and its role
6+4=10

AR LT AACARO! ST AN
IETFIOIe AR OFG oA ol

Write about Women’s role in
Environmental Protection in India, citing
example from various Environmental
Movements.
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R Ao WRER Bt wican 79|

What are Xenobiotic Compounds?
Mention various types of Environmental
Hazards caused by xenobiotic
compounds. 2+5+3=10

e Gl e cawaEfis el Rfew

AP ST BT i aaarvﬁﬁzﬁaiﬁﬂwaai
smﬁminzsu|

What is Global Warrmng? What are the
“main causes of global warming?

mention 1ts effect on environment.

2+4+4=10
cenaa?m @ﬂ@%‘t = Be ciedln Baeet IS
A IRTAR B [Fe iR ooz TR
o ol
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